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It is inferred that the 3329 permit it when the torch is opposite it

OVERVIEW

The X713 inferred that since 27 maintains that the bread is 70X only if it was baked
when 77315 712X (but not if it was baked with the 0°m3) this proves that the 0°om
maintain that even by 77312 712X it is permitted to eat the bread (since the flame
[and attending heat] come from wood that is burntl). nooIn discusses the
ramifications of this ruling.

nooIN asks:
- 2959131 11 XA NANYY 19 3PUN 11139 NPIANDY PININ 1339 9NN ON)
And if you will say; according to the 31239, since that even by the case of PR
17310 it is considered like flames which come from coals -
- (a,xp N0 N33) DINY TIINNDY (x,n nmroy DTN A9NY 91D 7599 SN
What does the X713 ask in the end of 9137 291 770 and in 273 17 P70 -
- MY 1Y) INNINY “INYUNT DI8Y XN XM
‘But there are jmwn7 2°3y whose benefit and destruction are simultaneous’; so
why is there no n°¥°2w nw1TP by these 0°x¥y? This concludes the citation of the s'873 question.
mMooIn comments; however, according to the aforementioned 7127 -
- *manYwn 01PN 939 )0 1PN NN NYYA XN
At the time of nR17 the wood is already destroyed in the place of the flame
from where we derive the benefit, so what is the s'®7723 question?!

Mo0IN answers:
- 53V 13¥7 191992 NN NN YN KD AT NYIYY ‘oyun M5 v

' See wn 71"7 2,10 Moo

* The 1327 maintain that even if you are baking the bread with the heat of a burning 7X37 M0°X, which exists during
the burning, the bread is permitted since the fire is a result of the X7 710°X being burnt and destroyed, but not from
the actual 7R17 MOX itself (for the X1 MOX is destroyed in the process of giving off fire and heat).

? The x5 there states that by wood (2°xy) there is no nN°¥"aw n17pR (the laws of N°yaw do not apply to them) since
the 770 writes (in 1,72 [772] X7p”) that 72982 027 PRI naw a0, this teaches us that Nv»aw nwi7p is only by items
where their benefit and 71¥°2 (eradication) are simultaneous (just as it is by eating; we derive benefit from the food
as we are consuming and destroying it). However by o'y, one derives benefit from them after they are burnt and
become coals (and we cook with the coals), so the jnX17 is after 7712,

* JnwnT o°xy are ‘oily’ trees which are used to make torches (*"w9) or used to warm a room ('0n). In either case
seemingly the 17¥°21 7R3 are simultaneous we derive the benefit as the wood is burning (similar to eating).

> The 1127 maintain that the flame is a result of the destruction of the wood; the flame burns as a result of the
destruction, but not simultaneous with the destruction (as it is by bread where we derive the X177 together with the
32 [see (however) footnote # 8]).
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And one can say; that because of this miniscule amount of discrepancy between
12 and 0X317, the burning of j7wn XY cannot be considered J7¥°2 MR 7RI
regarding’ noysaw -

- SmW 179993) ANIN $IN)Y XY BNN 199995 NIMT NN 9NY
For even by eating from where we derive there the rule of mw 771¥°21 10KR37, it is

also not perfectly 7w 3792y N7 -
- 7391235 059N IWPIY NN KON JNININ PRY D8P INY NIN 135091 NI

And we do not exclude from 7958 only other types of wood, whose benefit is
only after they become entirely coals.

mooIn anticipates a difficulty:
- %9051 1159 191 1) INYUN NIT DINY 1299

And according to 29 (who maintains that by 17310 712X it is considered as
deriving benefit from the M1o°X itself) the 770 should have prohibited even 2%y

IR KRBT as part of My aw nwTp -
- L)y 199999 1NN Y199 NDIANYS NITTYY

For according to "27 wherever it is 17212 7233R it is considered /1w §9¥°2Y N7 —

mooIn responds:
- 121112 AN NION NDT 991919 12 NN P22 NN ANIN 2191 DININ 9929120 NIIN)

And it is possible to say; since the majority of the benefit (by other trees, not
mwnT oxy) is after the 7’2, we can therefore assume that the 770 did not
prohibit those trees with the nyaw Mo°x.

nooIn asks:
- SPAYA DINY Y92 TON KY SNNNR COINON 2399 “mumy Pannt ixnY 110n Yax

® The n"37 M7 amends this to read NYw DWwnT (instead of My w7 DWwn).

7 In reality the X317 is 792 X, therefore by noii NX 12 779X the bread is 20, however there still should be nwTp
Ny aw by JNWnT O°¥Y as NHOIN continues to explain.

¥ Even by bread the benefit is derived somewhat after the M2 (we first chew and swallow the food [which is the
7y°1] and afterwards reap the benefit of its nourishment). However it is so close as to be considered 771¥°21 1K1
mw, therefore it includes J7wnT 0°¥y in which the 71¥°21 1iX17 are also very close in time. See ‘Thinking it over’ # 1.

? By oy for coals the destruction of the wood takes place much before we utilize the coals.

10 The xma (according to "27) should not have asked only from 7wn7 0¥y (that by them it is Mw 77¥°21 10K17), but
rather by any tree which is used as an 7?12 that it too is MW 77¥°21 AR,

" That is why he rules that 710K na7 if it is baked 173 7p1axa for we derive benefit directly from the M0°X77 *xy
(while it is being destroyed).

"2 We always follow the majority (the 217). Since the 7X37 211 of trees is after they are burnt and become coals,
therefore even if one happens to derive benefit from it while 17315 712X there is still no N°¥"2w NW17P on these trees.

" On §,12.
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However, it is astounding! According to the one who maintains that %29
prohibits (eating the bread which was burnt on) glowing coals, why did they not

prohibit all trees on Ny aw -
— M 199993) 1NN 99NY

For according to this 7"n their 71¥°21 7817 are MW -

TN 0¥ M1 IMNAT MUMY U MAan 175 25U XY 9INN
Since he does not consider them destroyed when they are nwm®, for the main
benefit is then with the burning coals! M501n does not answer this question.

SUMMARY

MwnT 0%y (even though technically 17v°2 is X177 07pP) however they are similar
enough to 77°0K that they should be included in n*vaw nun7p. Even according to °29
the main 7X37 is when they become coals at which point it is 7372 &> 10R37 (but
seemingly not according to the 7"n that even by mwm?> o°%m they are 0K
according to "27).

THINKING IT OVER
1. According to the conclusion'® of Mmoo is the MW 179¥°21 K17 the same by 2%y
MWnT as it is by 792K, or is there a difference?

2. The X3 (there in 7210 and "2) answers the question of JIWNT XY XX XM that
I 17 P0Y 0°%Y ano (so they are certainly 7702 X 10KR37). Is the last question19
of Mo (on the 7" that 27 is 70 even by NMwm? o°%n3) similar to MoYIN previous
question on "7 (that the X3 should have asked from all 2%y, not only %V
mwnT),? or is it a question even on the answer of the R (7p0i? 2°%y anv), that
nevertheless even if it is 7P but it is still MW 171321 X317 even by the 0°5ma?

' nywmb literally means whispering; this refers to burning coals who appear to whisper to one another (see X"y >"w"
mwmb a"7).
' This 7"» must maintain that even by (burning) coals we consider the Mo°X to be present and therefore the bread is
7oK if baked with mwm? 0°2ma of 7R3 *1O°X, for the bread is absorbing the actual MoX.
'® The ax37 99y is when we use the coals and even at that stage the Mo°X is 7v2 and being destroyed, so it is ANXIA
mw 17, it should therefore have nyaw nunp. See ‘Thinking it over’ # 2.
' If the 10°x would be considered destroyed by mwm?® o>mx why would the bread be Moy, it absorbed nothing from
the 71%17 710"} which was already destroyed (see footnote # 14).
' See footnote # 8.
¥ See footnote # 16.
%0 See footnote # 10.
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